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Integrationl
Tutoring Sheet #15 — Solution

Evaluate the following integrals:

3 2

1. [(3x" +2x—=5)dx = 3%+2X?—5x +C=x>+x*-5x+C

2. [xv/xdx = [x xx2dx =jx2dx =:;( +C :%+ C= 2X +C
7+1 —
2
3. fd— jd—)f :jx_de - £ =% =2Jx =F(4) — F(0)
0\/_ 0 2 0 _1 1
X 2+1 5

= 2J4-2J0=2(2)-0=4

4. ix(x“ + 2)dx=i(x5 + 2x)dx=%+ 2% =%+ X’=F(2) — F(0)

= 2—+22 — O—+02 %—O _ 32
6 6 6 3

5jd—)2( =[x"dx = +c=2 4+c="2 + ¢
X
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=[(x+1)x “dx=[(x*+x")dx = Ln|x| + X_l +C

5 I(X;})dx

1
=Ln|x]-— +C
X

X® —3x° +6X
J

7. dx= [(x*=3x*+6x)X dx = [(X’ —3X"+6x°) dx
X
= X _3X +6X + C
3
8. [(x+2)°dx ;Lletu=x+ 2= du=dx
=[u’du = Y ic= (x+2)" C
10 10

2
9. [2x(x*+3)'dx ; Letu =x*+ 3 = du = 2x dx

= [u'du = ug =Y ey —Fa)
_@+3 @+3) T 4 _T-4
5 3) 5 5 5
10. jx(3x+5)7dx ;letu=3x+5=du=3dx = dx = d?u
and x=$ ;Therefore [x(3x+5)"dx = ju;5xu7xd—u
=1j(u8—5u7)du: 1w su) oo s
9 9{9 3 81 27
_ (8x+5)" 5(3x+5) v C
81 27
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11. [x (2x* +7)"dx

du
Letu=2x2+7:>du=4xdx:>xdx=T

4 49 36 36
12. [x~/x—1dx

letu=+JX-1=> U’ =x-1=>x=u’+1
dx = 2u du

= [(u*+)(u)(2u)du = [(u*+1)(2u*)du = 2| (u® +1)(u*)du

5 3

u u
=2l(u*'+u)du =2— +2— +C
J( ) c 2

2(vx=1)° N 2(Vx=1)° v C
5 3
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